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SECONDARY ANNUAL EXAMINATION, 2023
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e This subject consists of two Question Booklets. Questio.n
Booklet-(A) 1s of MCQ type of questions and Question Booklet-(B) is
of Subjective type of questions (Question-cum-Answer Booklet).

Question Booklet-(A) MCQ Type has to be answered first
and then Question Booklet-(B) (Question-cum-Answer Booklet).
Question Booklet-(B) will be provided to candidate between
11:20 A.M. 10 11:25 A.M.

|mrg fA4M / GENERAL INSTRUCTIONS :

| wvA qRAEI-(A) Tgfasediy e W ATRE €| SIEe T 38E IW A
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HHE — 9:45 TAEA | 11:20 qaie |
“ ,,?ul:'l?is.t'i,?ﬂ:usBlo,ok'let-(A) is of MCQ Type o] questions.
Time'— 945 A.M.. t-‘;lllh;\':cszn'ot}:‘sml.hn)klcl first.
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Carcfully fill up the necessary particulars on the OMR Answer Sheet.
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(1) 6x7x11x13" (2)  S5x7x11x7x13

B)  Sx7x11x13 (4) 399 @ &1 T

The prime factorisation of 5005 is

(1) 6x7x11x13 (2) Sx7x11x7x13
B) S5x7x11x13 (4)  None of these
2. A favem OIReT a = bg+r B a=72,q=8 3R r=0% @ b F O
grm
(1) o 2) 8
3) 9 @) . 72
If in the division algorithm a = bg+r,a=72,gq=8 and r=0 then
value of b will be
() o 2 8
3 9 @ 72
3. 32w ... . e
(1) dfag (2 Ry
\ | _ o
N(_)_ | Pl 4) WA
X-335.A |
MTH

3 of 72

https://www.jharkhandboard.com


https://www.jharkhandboard.com

Download PDF from - JACBoardSolutions.com

wrn <>

32 iS8 oo number.
(1) rational (2)  irrational
(3) integer (4) natural
35 N .
4. 30 & WHAT YO FET € )
(1) wmE (2), 37Hid e
(3) WA =TI (4) 399 9 12 T8t
How is the decimal expansion of ﬁ ?
(1) Terminating
(2) Non-terminating repeating
(3) Non-terminating non-repeating
‘ 4)  None of thege
MTH T
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5.  y=p(x) & UG @ ™1 &1 SgR p(x) % TTH # w=W L

A. Y-

PO U 1
N2

(1) O (2) 1
(3) 2 4 3
The graph of y=p(x) is given. The number of zeroes of the

polynomial p(x)is

A Y-axis

(1) 0 2 1

@ 2 (4) 3

MTH | 5 of 23
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6. T x*-15 W I §

(1) V15, V15 2 -Vis, -J15
3) -15, V15 @) R

The zeroes of the polynomial x2? -15 are

(1) V15, J15 2) -415, -Ji5
(3) ‘4 —\./ﬁ , V15 '_ (4)  None of these

7. AR x*-2x-8FYIF a IR bA M a+ bH AT

(1) 8 2 -8

@ 2 (4) -2

If the polynomial x2 -2x—-8 has zeroes a and b, then the value of

a+bis

(1 8 2 -8

@ 2 @ -2
MTH
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8.

(U TH (2)

3) @ (4)

MTH

Wﬁwaﬁiﬁamﬁwm@wmﬁ,m%imﬁ
gt

3rfa

When the graphs of equations in two variables are intersecting

lines, then their solution(s) will be
(1) one (2)
(3)  three (4)

9. g el ax+by+c =0 TUq

#, afs

a b ¢
(1 A _ 1,1 2
) a, 2¢02 (2)
(33 ﬂ:ﬁ:i (4)

two

countless

a,x+by+c,=0 & IAT< &A

_“_t;eﬁ_&
@ B 4
4.5 9

b C
a, Db, ¢

The system of equations ax+by+c =0 and a,x+b,y+c,=0

will have infinite solutions, if

a b
1 -L_.% ¢
(1) a, b, # g (2)
@ _b _< :
X-335.A
MTH
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a, B, G
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10. Ya® S W 2x+y =5 A 3x+2y=8 FFA L

(1) x=2,y=-1 (2) x=-2,y=1
(3) x=2,y=1 (4) xX==2,y=-2

The solution of the pair of linear equations 2x+y=5 and

3x+2y=8is
() x=2,y=-1 2) x=-2,y=1
B) x=2,y=1 @4 x=-2,y=-2

11. T T 4x+ py+8=0 3R 2x+2y+2=0% AT e T &
fg pwr A

3 p=4 4 p=z-4

The value of p for which the system of equations 4x + py+8=0

and 2x + 2y +2 = 0 has unique solution is

(1} p=4 (2) p=-4
@ p=#4 4) p=-4
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12. f7= 7 @ =9 fgaa it @ )

(1) - (x+1)>=2(x-3)

4

2) - (x+2)*=2x(x%-1)

(3) (x—2)(x+1)=(x—'_1)(x+3)

4) THIRT

Which of the following is a quadratic equation ?
(1) (x+1)>=2(x-3)

2)  (x+2)%=2x(x*-1)

B)  (x=2)(x+1)=(x-1)(x+3)

(4)  None of these

3. feord arfteur 242 — 74 4 6 = 0 F FafHER WK &

(1) 2 2 -3

. @ 3
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The discriminant of the quadratic equation 2x°-7x+6=0 is

equal to
(1) 2 (2) -3
3 1 (4) 3
14. 3R fgam arfemo x* ~ px+4=0% 4ol R &, A p w1 9= 20w
(1) 3 2 =4
3) 5 4) +2
If the roots of the qQuadratic equation x2 ~Px+4=0 are equal
then the value of p will be
() 3 @ +4
@) t5
4 zx2
15. fyam 2 '
efigor x +5x-6=03§imﬁg}m
1 o
-.(2) 1.
3. 2
wl4) 3
MTH
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The power of the quadratic cquation X’ +5x-6=0 will he
(1) O (2) 1
3 2 (4) 3

16. A.P.06, 17, 28,39, .. F WH R )

(1) 1-1 2) 11

(3) 06 ' (4) 6

The common difference of the A.P. 06, 1:7,2-8,39, ...1s
(1) 1-1 2) 11

(3) 06 (4) | 6

17 AP.10,7,4,.. %1308 W&&

(1) 97 2) 77
3 ,-77 _ A 4 -87
30th term of the A.P. 10,7, 4, ... i8

(1) 97 (2) 77
@) -77 4) -87

:X-
% MTH i1 of 23
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2+7+12+ ... 10T & MR
(1) 225 (2) 235
(3) 245 - (4) 255
The sumof2+ 7 + 12 + ... up to 10 terms is
(1) 225 2) 235
(3) 245 (4) 255
it ot gre &
() & @ watrem
B (1) %k (2) NN
| (1) ¥R () 3 @) I

All the squares are

(1)  similar '
(2)  con
gruent

L9 bothmapag none of thee
20 aABC H p E#131: A sin oc
AD:DB =2 . 3 a1 AE =] 6cmFﬁEC$qu
) 4.4 cm o
(3). ) (2) 48 cm
"?-336'-"4'-]‘ B W}} R T
MTH
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In AABC, D and E are two points on AB and AC respectively
DE|BC.1fAD: DB =2 : 3 and Ak

and

= 16 c¢m, then what will be the

value of EC ?
(1) 12cm 2) 4-8cm
3) 24cm ' (4)

None of these

21. . 3fF AABC ~ ADEF a,ﬂTBc:EF=3:5,a’rar(AABC):

ar (ADEF )
TR ®
() 9:5- 2 3:5°
B) 9:15 (4)  9:25

] »

If AABC ~ ADEF and BC : EF =3 : 5, then ar (AABC) : ar (ADEF ) is

equal to
(1) 9:5 2 3:5
B 9:15 : @) 9:25

2. R p(0,0) o @(-3,-4) FIT AL
(1) 2w 2w
@) o g 4 5w
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The distance between the points P(0,0)and Q(-3,-4)is
(1) 2 units (2) 3 units

(3) 4 units (4) S units
23. ﬁiaﬁ(l,g)am(s,uaﬁﬁaﬁaﬁ%@r@ugwmﬁa%%'

(1) (1,4) @ (2,3)

@ (41) W (3,2)

The coordinates of the middle points of the line segment Joining the
points (1,2) and (3, 4 ) are

1} (1,4) @ (2,3)

B (4,1) @ (32

24, uﬁ:A(0.0LBHZO).C(o, 1)a%mcwﬁamm

() 3 @
. ’ - . ’ 4
® 2 .
g ‘. 4
IfA(0O 0),B(4
» » ’o
),C(O,l),thenareaofth
o cAABCwillbe
(2 4
¥ 2
4)
'[8-338£|
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25. qﬁCOSA:é a @

S' 7 Coscc A Ty 3 H
m ¢ |
@ 3
4
@ 2 -
3 4 3
@3
X 3
If cosA = 55 then cosec 4 is equal to
4
(= ' >
2 -—
z (2) 7
3
@ 2 @3
% WM 2sina=y3, @AW A
(1) 30° | () 45
®) 600 o @ %
If 2 '
f2sing = V3, then value of Ais
(1) 30° (2) 45°
B gge @) 90°

https://www.jharkhandboard.com


https://www.jharkhandboard.com

Download PDF from - JACBoardSolutions.com

MTH B JAC
27. cot(90°- A) TR ?
(1) cosecA (2) cosA
(3) tanA ‘ g (4) secA
. cot(90°-A) is equal to
(1) cosecA (2) cosA

(3) tanA (4) secA

28. sinA+cos?AF AR E
1y -1 - 2 1
B -2 _ 4) 2
'ﬁle valize of sin® A+cos? A is
1 -1 ’ 2y 1

@ -2 4. 2

29. WW%WWW'WMWﬁ 15 m &
5m F

# Sk 3 TR 60° &, @t s
(1) 20 m ’

@A 15v3 4
(3. 25/3 m

@) 15y

g
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The angle of elevation of the top of
O

"y o . a ‘OWer i
60°. Then the height of the tower ig At a distanc,e of |

(1) 20m @ 1843 o

3) 25V3 m 4  15m

30. foet g9 W @ fag R wiedt ™ wet Y@nadt # wen o

(1 4 (2) 3

(3') 2 @4 1

Ly

SI'!'\u\

The number of tangents to a circle from an external point will be

(1) 4 | 2 3

(3) 2 @1

31. 2 8 e § aff ZOPA = 35°, @ LAOP &l ¥F &M

L

A
(1) 85 - (2) 45°

(3)  60° (4} 65°

x3sA] MTH
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In the given figure, if ZOPA = 35° , then the value of ZAOP will be

O
" 35°
€ A P
(1) S5° (2) 450
(3) 60° (4) 65°

32. aﬁwﬁgp#o%aarﬁwqawmqépéwmﬁww

80° & HIT W g+t &, &t Lpoa T 2

1 ° |
() ,5_0 (2) 60°

inclined to each other at an angle of 80°, thep ZPO gents are
K A is
(1}  50° - cqual ¢
60°
3} 70° @
. 800

33. ﬁqﬁﬁm?ﬂ-%‘émm?% 5

(1) nr2
(2) 2,2
(3) 3nr?
. (4)
ne TR W
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1 22
i cm (2) 36cm

https://www.jharkhandboard.com

If the radius of a semicircular field is 7 cm, then its perimeter is
(1) 22cm (2) 36cm

3
) 44cm (4) none of these

35, 42cmﬁmmﬁgﬁ$wmwmwmmm

120° ¢ >
1838 cm? (2} 1848 cm?
B) 1858 cm? (4) ¥FH @ IS 7@

SRR 19 of 23

k https://www.jharkhandboard.com


https://www.jharkhandboard.com

Download PDF from - JACBoardSolutions.com

o LJAC

What will be the arca of the sector of a circle of radius 42 cm

Whvosc angle is 120° ?

(1) 1838 cm? (2) 1848 cm?

(3) 1858 cm? (4) None of these
36. m%maﬁWWIS(:m,&}cm@12cm§,a}m*m
HI TETE
(1)  12cm (20 13cm
(3) l4cm (4) 15cm

The length of the sides of a cuboid are 3 cm, 4 cm-and 12 cm

respectively, then the length of the diagonal of the cuboid is
() 12em @) - 13cm
3 l4cm 4 15cm

37. oW @R WAR WHd SEIST HT O g

(1) 1 ' (2) 2
AL 4 4
MTH

20
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() 1 2 -
43 (4) 4
38 a?m"r IRERAT FF Feedt &
(1) @R | Q) s
) EoE (4) SRR T

Cumulative frequency curve is called

(1) ogive ' (2)  histogram

‘(3) bar graph (4)  frequency polygon

39. Tl T & $F7 W 9 gEw o= w wfea &

2 1

m 2 . @
1 1

3 = 2

@ 3 @

The probability of getting an even number when a dice is thrown is
2 ' 1

S @ 3
1 : 1

3 3 : =

X-335-A | MTH 21 of 23
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40, Fra o @ -9 fadt g @Y wfeRdr €T & bl 7

5
n

(1) 08 (2)
3)  80% (4) %

Which one of the following cannot be the probability of an event ?
(1) 08 (20 25

(3) 80% (4) %
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